1. gA=Fol obd 2712 Axloa 2& ol AL

D 5
h ) (ch) (&h
() (a}) (AP (b
@ (7hHHEhH @ (4, HHAR ® (7hHHh

@ (¢,2huheh)  ® (9hEh






4715 Azl H @
AL,

3.

D L
=%



4. T ofE A=Y AAZ U




gL od YA E g 2] AAEI 7






7. WHEER e A=A A2 Lol gHE FHA L.




M



g5y ANE=E HolM wheE AA=FE (1) oA (4) 7H=1 €] ZAol7h
HtEA] A2H A2 of ARMA AL=AL,

@ (1) - 5em @ (2) - 3cm ® (3) - 4em
@ (4) - 3cm ® (4) - 4cm



10. o= Wl B A= o] 5= AAL.



11, o AAEE BEIAE AEPe] BARlS] Folo] Fe FoA]

Cf-
(5 =X cm



Fe-S of® AAE G AAHEA 240,




